_S_jéradi'en{:, Gauss dTverge_nce Theorem
ond Qreen-Gauss Theorem

5.1) What is oo gradient Tn 107

Derivative.

Whak Ts Gouss theorem Tn 1D7

b
"Analysens huwdsats' §dd-§ dx = {‘(M-Q(O\B .

Whot 7s Green- Gouss theoreme in 1D7

Pactial Tnteﬁrab?on : S(-adx=£('t:ﬂ-5¥'q&x

5.1) To Manu

S dl Tex,y)=0X+ by

o) Calevlate the integral §aTIRAL , where @ 15 nommal Lo the dlisc.

\ T
vT=(& '%'3’%)(&“ by)=(o, b, 0)

n=(_(00, 1)T

O

b) Calevlate the divergence of the temperature 3“&0{?&'\‘1‘,.

A=V (tT)=V(a,b,0)= O
c) Covld @) been cbtained directly from b)Y
§UTRdL= [dv@@ndA=0 , [yes)

S



5.3) CO\[C()[af:& Lhe line Tv\te_gro\\.

’ - =\ 35
(D= X9‘+Y+[O % \/=§:Z/X¥W\ =-H—3X+(q+—q)—-%x@
L td,y)—>(5,1) % G5

BNE s el fdyelacf
EENIRTIN rw AP (P75 VAT TV )

Answer
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L

L

Whot hoppens it we integrate Srom (5,1) to (14) instead?
o
— 85 \g g&
6 - —
A b

B.H) A corve n the xy-plane Ts defined by 0=x*+Yy+0=0, Calcolote the

normol vector to the corve ot (G -11)
R "
1
OB ('Zx/ 1)
vo(L-1) =(7, 1)

We need to normaliz e:

o1 [
v [ 35




